20204 A|=Z1 Y EEIH| SINXI=Z(9E)

NE=2PN; HY=H HAx | 44 HCh ol HAEL g gl
2020.09.02 | X|H2tAX} 2t 2| | CHEO[AL | AICH |HEOIAL XIHBAXS | 6 71EHoHE Al 105,000
2020.09.03 | X|G2tA Kt ZtE2| | CHEEO|AL | AICH |cHEOIAL XIG2AX9 | 10 HE S| 0|AH 2| 45,200
2020.09.09 | XG0l =2tA Xt Ztetsl| 2822 | A |[XHo&2l 2 3 MEAEE 36,000
2020.09.10 | X|H2tA Kt ZtE2| | CHEEO|AL | AICH |CHEOIAL XIHRAXS | 6 SHEAE 104,000
2020.09.10 [HHQtALE A S ZtEa|| 227 | Al |FHIAKX 2 3 (st 0|A 2| 14,560
2020.09.11 [SHQtAtE 7 ZHEZ]| 282E | A |A[ZAXL L 7 (=37 OH oA 2 30,590
2020.09.15 | X|Y90|=¢Ql ZtE3| | CHEO|AF| AICH |cHEOIAL X|Yoj&0l3| 4 Eore 56,000
2020.09.16 [A{CHAF2E ZtE2|| 287 | Aol |[A[2AX 2 8 SHAY 125,000
2020.09.23 | X|G2AKXt 2tE2 | 22% | A |[X[FG2AX} 2 4 |HE3FOH| oAz 11,330
2020.09.28 | X|Y0|=Ql ZtE=| | CHEO[AL| AICH |cHEOIAL XIHojzel7| 8 SHE 7| 51,000
2020.09.28 | X|H0|=Ql ZtE 2| | CHEO[AF| AIDH |cHEOIAL XIHoizel2| 3 Si &7t 17,000
2020.09.28 | X|G0|=Ql ZtEt3| | CHEO[AL [ AICH |cHEOIAL XIGoizel2| 3 365 I OLE 4,900
2020.09.28 | X|G0|=Ql ZtEH2| | CHEO[AL | AICH |chmolAL XIHol=el10 | 11 SHAE 212,000

EA4(134) 812,580




